Nazwa: WCP1
Typ: Wywiewny

Opis: wywiew z WC

Sys. | N Szt. Typ Nazwa Wymiary Materiat | Kolof Pow. [m2Pow. calk. [m4 Producent Uwagi
WCP]] 1 TUBE* Przewod okgly [ d1= 16Q 11 = 804 ocynk 0,40 0,40 Ogolne
WCP]] 1 TUBE* Przewod okgly [ d1 = 16Q 11 = 600D ocynk 3,01 3,01 Ogolne
WCP] 1 TUBE* Przewdd olgly | d1= 16Q 11 = 420B ocynk 2,11 2,11 Ogdlrje
WCP]] 1 TUBE* Przewod okgly [ d1= 16Q 11 = 319 ocynk 0,16 0,16 Ogolne
WCP 1 TUBE* Przewdd olgly | d1 = 128 I1 = 864 ocynk 0,34 0,34 Ogoblne
WCP]] 1 TUBE* Przewod okigly [ d1= 125 11 = 316B ocynk 1,24 1,24 Ogolne
WCP 1 TUBE* Przewdd olgly [ dl= 12§ |1 = 134 ocynk 0,05 0,05 Ogoblne
WCP]] 1 TUBE* Przewod okgly [ d1= 125 11 = 104p ocynk 0,41 0,41 Ogolne
WCP1 1 TCox | Troinik symetrycznyl 41— 1od 4o = 160 d3= 125 ocynk 0,20 0,20 Ogélhe

redukcyiny 90 stopi

WCP1 1 MF1* Zhczka nyplowa | d1= 140 ocynk| 0,04 0,04 Ogodlne
WCP]] 2 MF1* Zhczka nyplowa | dl1= 125 ocynk 0,03 0,06 Ogéllhe
WCP]] 2 KK Zawor wentylacyjnyy D= 135 stal SMAY
WCP1 1 FLEX Przewod elastyczn = 125 |I= 1105 alumirgtanall 0,22 0,43 Ogoélne
WCP]] 1 CD1*+0 Przepustnicaaigta| d= 160 1= 160 ocynk Ogolng
WCP]] 2 BGE Kolano prasowang alfa= PO r= |1 d1=[160 ocyhk 90,1 0,38 Ogélne
WCP]| 2 BGE Kolano prasowang alfa= P0 r= |1 d1=[125 ocypk 20,1 0,23 Ogolne




